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w3 6, 385 620, 171
1| % rst (KUL) 4 # (TPE) B (KIX) 8 1, 740
2 |F s (KUL) £ # (TPE) LR (CTS) 6 5,911
3 |+ (TSA) & (i) (SHA) 52 679
4 |41 (TSA) s GF 4O (PVG) 26 843
5 [+ (TSA) % 2(TSN) 16 1, 763
6 |4~ (TSA) + R (TYN) 4 2,179
7 |+ L (TSA) & 3o (HFE) 2 1, 356
8 |+ (TSA) % #5(CTU) 8 1,812
9 |4 (TSA) 2+ (HGH) 8 994
10 [+ (TSA) # 7 (322 )(HND) 112 2,130
11 [+ (TSA) 73 (WUH) 4 328
12 |4~ (TSA) £ & (CKG) 12 1,548
13 |4 (TSA) # % (£ )(GMP) 28 1,488
14 |+~ (TSA) J& P (XMN) 20 633
15 [+~ (TSA) B 1 (WNZ) 4 628
16 |+~ (TSA) i& 4 (FOC) 24 443
17 | = (HUN) s (TNA) 2 1,438
18 |F7 47 #1452 (AMS) |4 # (TPE) 5 2 3 (ML) 14 12, 477
19 |4 # (HKG) £ # (TPE) + R (KIX) 14 2,524
20 |4 # (HKG) £ # (TPE) &+ & (NGO) 14 2, 664
21 |4 % (HKG) 4 # (TPE) L (=7 )(NRT) 14 2,958
22 |4 # (HKG) 4 # (TPE) # (=) 14 2, 217
23 |5 & £ (MNL) 4 # (TPE) + R (KIX) 6 2, 884
24 | % = (KHH) Fa G 1OPVE) 32 1,147
25 |% 2 (KHH) < (K1) 54 2,001
26 |8 z(KHH) < ;2 (TSN) 2 1,862
27 | 2 (KHH) A # (PEK) 2 1,973
28 |# = (KHH) L #(CTS) 10 3, 007
29 | z2(KHH) + 18 (KUL) 14 2, 981
30 |# = (KHH) &+ & (NGO) 4 2,211
31 |% 2 (KHH) 4 % (CRK) 6 822
32 |# 2 (KHH) £ (KMG) 4 1, 800
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33 | & s (KHH) ! (HGH) 10 863
34 | 2 (KHH) % 3 (8 )(NRT) 80 2,443
35 |# 2 (KHH) 73 (WUH) 10 1,079
36 | % (KHH) # 1 (HAN) 28 1,509
37 | & (KH) £ 75 (CSX) 4 970
38 | 22 (KHH) # % (TAO) 2 1,905
39 | % 2 (KHD) % % (NKG) 6 1, 062
40 | e (KH) % & (KHN) 4 814
41 | e (KHH) # AP (SON) 48 1, 959
42 | % s (KHI) F B (= U 80 1, 799
43 | % 22 (KHH) % # (HKG) 72 4e 12 (CGK) 14 3, 906
44 | % 2 (KHD) % # (HKG) 168 655
45 | % 2 (KHD) 3. % (DAD) 6 1, 483
46 | = (KHH) i © (HAK) 4 1, 280
47 | 22 (KHHD) 527k (0KA) 36 901
18 | % e (KH) % 1 (PUS) 32 1, 702
49 | % & (KHD) 5 R 3 (MNL) 14 899
50 | s (KHH) % 7 (CEB) 6 1, 416
51 |% 22 (KHH) i. )‘iég;ﬁp 28 2, 362
52 |3 2 (KHD) =¥ (SZX) 4 672
53 | & (KHH) & (XMN) 12 457
54 |3 ze(KHH) #74c 1 (SIN) 4 2, 946
55 |3 2 (KHH) % i (NGB) 8 1, 053
56 | & 22 (KHH) it & (KMT) 6 1, 526
57 |3 2 (KHHD 45 (FOC) 10 842
58 | & 22 (KHH) i b (FUK) 14 1, 697
59 |3 2 (KHH) B 4 (CAN) 4 731
60 |3 e (KHH) i F* (MFM) 64 9
61 |3 22 (KHHD A1 (CTU) 8 L 717
62 |5 oy T [# D) F B (= O 14 3, 968
63 |74 1 (SIN) # 2 (KHH) « B (KIX) 14 4, 925
64 |374c 1 (SIN) 4+ 2 (TPE) « I (KIX) 24 4,916
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65 |37+ 5 (SIN) 4 # (TPE) FL#(CTS) 8 5,937
66 |37+ 5 (SIN) 4 # (TPE) % 7 (217 )(NRT) 24 5,371
67 |#7+4r 5 (SIN) 4 # (TPE) #f (=) ICN) 6 4,701
68 |% ¢ (RMQ) = L (SYX) 4 1, 655
69 |% ¢ (RMQ) £ (KMG) 2 1,788
70 |4 ¢ (RMQ) o (HGH) 4 685
71 |4 ¢ (RMQ) L % (22 )(NRT) 14 2, 256
72 |4 ¢ (RMQ) 7 (HAN) 16 1,557
73 |4 ¢ (RMQ) # & (TAO) 1,336
74 |4 ¢ (RMQ) & 7 (NKG) 1,094
75 |4 ¢ (RMQ) # AP 3 (SGN) 42 2,098
76 |4 ¢ (RMQ) % i (HKG) 96 719
77 |4 ¢ (RMQ) 73k (OKA) 12 815
78 |4 ¢ (RMQ) F ¥ (SZX) 711
79 |4 ¢ (RMQ) % (NGB) 669
80 |4 # (RMQ) B 1 (CAN) 1,053
81 |4 ¢ (RMQ) 2 ™ (MFM) 28 817
82 |4 # (TPE) = L (SYX) 4 1,434
83 |4 # (TPE) + i CGF RO)(PVG) 136 785
84 |4 # (TPE) * R (KIX) 234 1,722
85 |4 # (TPE) + ¥%(TAE) 46 1,473
86 |4 # (TPE) + 1 (DLO) 10 1,543
87 |4 # (TPE) > (KMQ) 18 1,979
88 |4 # (TPE) 24 % (PPS) 9 1,861
89 |4 # (TPE) % 2 (TSN) 10 1,608
90 |4 # (TPE) * R (TYN) 10 1,636
91 |% # (TPE) = % (CDG) 20 10, 979
92 | % # (TPE) i 5 (SDT) 38 2,412
93 | % # (TPE) A4 (KK 14 1,513
94 | % # (TPE) # # (PEK) 58 1,725
95 |4 2 (TPE) + 3 24 (BNE) | # % i (AKL) 14 9, 040
96 |4 # (TPE) # 2 #7 4 (BNE) 28 6, 755
97 |4 # (TPE) L (CTS) 56 2,709
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#gl—~ Sk o #ngkz 313 2 (x) (22)
98 |4 # (TPE) %4z § (ISG) 4 278
99 |4 # (TPE) 7 75 (SJW) 14 1,987
100 | £ # (TPE) # #rn F(IST) 12 8,422
101 |4 # (TPE) kL % (1AH) 14 12, 765
102 | % # (TPE) & 5 (HFE) 18 1, 096
103 |4 # (TPE) % s (KUL) 78 3,193
104 |4 2 (TPE) &+ & (NGO) 100 1,877
105 | 4 # (TPE) 55 (YYZ) 14 12, 089
106 |4 # (TPE) % 1z (ONT) 14 10, 993
107 |4 # (TPE) % 41 (CTU) 16 1,810
108 |4 # (TPE) 8" (AKJ) 8 2,943
109 4 # (TPE) 28 (SWA) 6 514
110 |4 # (TPE) & % (XIY) 16 1,594
111 |4 # (TPE) & ¢ B (SEA) 20 9, 749
112 |4 # (TPE) =% (HSG) 1,474
113 |% # (TPE) 5.4 5 (CRK) 1,102
114 |4 # (TPE) 1 #2(DXB) 14 6, 548
115 |4 # (TPE) i % (BWN) 8 2,345
116 |% # (TPE) I #e (BKI) 28 2,129
117 |4 # (TPE) & 48 (HKD) 24 2, 655
118 | 4 #* (TPE) = fri # (HET) 10 1, 971
119 |4 # (TPE) B L (OKJ) 14 1, 762
120 |4 #* (TPE) % 72 (ROR) 8 2,429
121 | % # (TPE) £ (KMG) 12 1,878
122 |4 # (TPE) 2+ (HGH) 30 595
123 |4 # (TPE) L5 (%7 )(NRT) 260 2,187
124 |4 # (TPE) L 5 (32 7 )(HND) 28 2,206
125 | % # (TPE) Fali (MYT) 4 1, 463
126 |4 # (TPE) 7% (WUH) 10 927
127 | & # (TPE) @ 1 (HAN) 120 1,645
128 |4 # (TPE) i% 74w (FRA) 14 9, 356
129 |4 # (TPE) ¥ 48 (ORD) 10 11, 986
130 | 4 # (TPE) % (HNA) 4 2,643
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#gl—~ Sk o #ngkz 313 2 (x) 28)
131 |4 2 (TPE) & 8 (PNH) 40 2, 469
132 | % # (TPE) & (CXR) 10 1,978
133 |4 # (TPE) £ 5 (CSX) 18 902
134 | % # (TPE) £ % (CGQ) 16 2,449
135 |4 # (TPE) £ g (KLO) 20 1,689
136 | % #* (TPE) foda 27452 (ANS) 22 10, 603
137 |4 # (TPE) # & (TAO) 16 1,234
138 | % #* (TPE) # & (A0)) 10 2,506
139 |4 2 (TPE) % # (NKG) 30 808
140 | % 2 (TPE) % & (KHN) 14 678
141 |4 # (TPE) % i (NTG) 6 781
142 | % # (TPE) = % (NNG) 14 1,536
143 |4 # (TPE) *  i% (HRB) 20 2, 347
144 |4 # (TPE) % (VE) 2 1, 346
145 | 4 # (TPE) ® 2§ (DPS) 28 3,823
146 |4 # (TPE) Fe M (TIN) 14 285
147 |4 # (TPE) i 125 (LAY 62 10, 917
148 | % 2 (TPE) # &P (SGN) 134 2, 265
149 | % 2 (TPE) % & (CKG) 18 1,543
150 |4 # (TPE) # % (=" )(ICN) 166 1,499
151 |4 # (TPE) % % (HKG) 518 808

5 3] :{r\:

152 |4 # (TPE) SEEGW; 10 9, 780
153 |4 # (TPE) # % (KMI) 12 1, 225
154 | & # (TPE) 3 3% (DAD) 48 1,717
155 |4 #* (TPE) i+ (XUZ) 6 1,094
156 |4 # (TPE) 2 4R (KWL) 20 1,116
157 |4 # (TPE) # o (HAK) 20 1, 264
158 |4 # (TPE) & 3 (HLD) 2 2,523
159 |4 # (TPE) i %2 (WW0) 2 2,213
160 |4 # (TPE) & & % (URC) 8 3. 750
161 |4 # (TPE) 23k (0KA) 154 693
162 |% # (TPE) 2 % (JFK) 22 12, 523
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163 |4 # (TPE) %5 (IBR) 4 9, 479
164 | % #* (TPE) % L (PUS) 106 1, 385
165 | £ # (TPE) 5 R 3 (MNL) 154 1,175
166 | 4 #* (TPE) B > (TAK) 14 1,605
167 |4 # (TPE) % (MWX) 14 1, 369
168 | 4 #* (TPE) # 7% (CEB) 48 1,726
169 |4 # (TPE) ¥ 4 (CZX) 6 1,162
170 |4 # (TPE) % 77 (DYG) 14 879
171 |4 # (TPE) § % (A )(DMK) 56 2, 768
172 |4 # (TPE) if(égz;l’\ Fo b 21452 (AMS) 6 11, 693

§ B (B % 3 (F 25
173 |4 # (TPE) #f(ém N I s 14 | 12,081
174 |4 # (TPE) if(ézz;?\ #4 3 (VIE) 8 10, 940
175 | & # (TPE) i)"&(égz) * 112 2, 492
176 |4 # (TPE) iz (HIA) 6 994
177 |4 # (TPE) =¥ (SZX) 48 809
178 |4 # (TPE) i1 (CIT) 22 1,421
179 | % #* (TPE) 778 (CNX) 28 2,399

R
180 | 4 # (TPE) i)gvé)f ik 2 8. 711
181 |4 # (TPE) Z 44 (SYD) 20 7, 280
182 |4 # (TPE) A2 % (KOD) 10 1,142
183 |4 #* (TPE) & L (TOY) 8 1,978
184 | £ # (TPE) F AT 8 965
185 |4 #* (TPE) 47 (WUX) 28 724
186 |4 #* (TPE) ¥ B (KWE) 14 1,495
187 |4 #* (TPE) 7 4o 12 (CGK) 42 3,848
188 |4 # (TPE) # L (TXN) 10 604
189 | % #* (TPE) B 5 i (AKL) 10 8, 857
190 |4 # (TPE) & P (XMN) 28 338
191 |4 # (TPE) #74c i (SIN) iw -k (SUB) 14 4,601
192 |4 # (TPE) #7405 (SIN) 96 3, 296
193 | % # (TPE) #rE (K1) 4 2,482
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194 | 4 # (TPE) 2 (INZ) 14 328
195 |4 # (TPE) 8B Z=(YVR) 38 9, 601
196 | % # (TPE) £ 4 (YNT) 14 1, 381
197 |4 # (TPE) # 5 (YIW) 6 486
198 |4 # (TPE) % 7 (NGB) 24 531
199 | % # (TPE) A& 1 (FOC) 18 533
200 |4 2 (TPE) & b (FUK) 106 1,346
201 |4 # (TPE) s (VIE) 16 8,983
202 |4 2 (TPE) $2° (INO) 6 2,403
203 |4 # (TPE) % ~(MEL) 8 7,373
204 |% # (TPE) R+ (CAN) 36 845
205 |4 # (TPE) R % HID 14 1,482
206 |4 # (TPE) 7% 2 (DEL) 6 4, 369
207 |4 # (TPE) #1 (CGO) 26 1,307
208 |4 2 (TPE) 2 ™ (MFM) 168 988
209 |4 2 (TPE) # k (FSZ) 4 2,242
210 | % # (TPE) 4 L (HNL) 4 8, 145
211 | % 2 (TPE) A1 (CIU) 24 1,214
212 |4 2 (TPE) s (TNA) 18 1, 356
213 | % # (TPE) # # (PEN) 14 3,134
214 |4 # (TPE) %15 (SHE) 20 1, 866
215 |4 # (TPE) # 4 L (SFO) 70 10, 386
216 |4 # (TPE) % 5 (FCO) 6 9,598
217 |4 # (TPE) B & (GUMD) 10 2, 754
218 |4 # (TPE) iz (LIG) 6 2,121
219 |4 # (TPE) i (LHW) 10 2,090
220 |4 2 (TPE) % 35 (YNZ) 4 1,343
221 |4 % (TNN) 4 (K1) 4 1, 980
222 |4 % (TNN) # AP (SGN) 14 1, 969
223 [4 % (TNN) % # (HKG) 14 621
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